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TEST YOURSELF 3
(UNITS 7-8-9)
	[bookmark: bookmark19]1.
	A. presentation
	B. scientific
	C. botanical
	D. radiation

	2.
	A. government
	B. resident
	C. visual
	D. dramatic

	3.
	A. adoptee
	B. symbolise
	C. spectacle
	D. territory

	4.
	A. Japanese
	B. kangaroo
	C. iconic
	D. refugee

	5.
	A. biography
	B. reservation
	C. astrology
	D. destructive

	6.
	A. climatology
	B. emergency
	C. zoology
	D. geography

	II. Choose the word (A, B, C or D) whose underlined part is pronounced differently.

	1.
	A. chemical
	B. gallery
	C. organise
	D. government

	2.
	A. herbicide
	B. aquatic
	C. melody
	D. exercise

	3.
	A. invention
	B. violence
	C. photograph
	D. interview

	4.
	A. occasion
	B. attraction
	C. musician
	D. national

	5.
	A. koala
	B. accurate
	C. tsunami
	D. apartment

	6.
	A. tourists
	B. mudslides
	C. guidelines
	D. shelters



I. Choose the word (A, B, C or D) whose stress is different from the others.
[bookmark: bookmark20]III. Choose the correct form of the words (A, B, C or D) to complete the sentences.
1._____, the substances of the ground here are polluted.
A. Chemistry	
B.Chemist	
C.Chemical	
D.Chemically
2. Thanks to the development of technology, many natural disasters have been accurately______.
A. predict	
B.predicted	
C.predictable	
D.prediction
3. Chlorine is used in sewage_____.
A. treat	
B.treating	
C.treated	
D.treatment
4. Our family has made a lot of_____for the natural disasters.
A. prepared 
B. preparing 
C. preparations 
D. repairs
5. The______should pay for the cost of the clean-up.
A. polluters	
B.pollutant	
C.pollution	
D.polluted
[bookmark: bookmark21]IV. Choose the best word or phrase (A, B, C or D) to complete each sentence.
1. The river is	polluted, which becomes the serious problem in this area.
A. seriously 
B. easily	
C. majorly 
D. carelessly
2. The teacher is giving her students advice____how to communicate toeach other well.
A. on	
B.in	
C.about	
D.for
3. A tornado can	anything on its path.
A. effect	
B.predict	
C.destroy	
D.control
4. The train passes by some breathtaking______in the Canadian Rockies.
A. scene	
B.sight	
C.site	
D.scenery
5. My family	well before the flood	. That's why there's not muchdamage to our asset.
A. had prepared/came	
B.prepares/came
C. have prepared/have come
D.is prepared/comes
6. The factory releases harmful chemicals______the environment.
A. to	
B.in	
C.into	
D.toward
7. If I	more money, I	build more parks and plant more trees in our city.
A. has/will	
B.had/will	
C.had/would	
D. have/would
8. Vivid Sydney is a yearly outdoor lightning festival in Sydney. It______as ahuge success in recent years.
A. saw	
B.was seen
C. had been seen	
D.has been seen
9. Food and medical supplies______to the flood village this morning.
A. are delivered	
B.were delivered
C. have been delivered	
D.had been delivered
10. A lot of events and activities_______to raise money for the victims of thevolcanic eruption.
A. held	
B.were held	
C.are holding	
D. hold
11. Plastic bags are hard to be_____of so they will cause pollution.
A. solved	
B.disappeared	
C.disposed	
D. melted
12. London by night becomes a palace with gorgeous_____.
A. lighting	
B. vision	
C. gates	
D. themes
13. We_____to run out of the house into the street before the earthquake_____our house collapse that night.
A. manage/makes	
B. managed/ made
C. has managed/made	
D. had managed/ had made
14. If I	a lot of money, I____to London.
A. had/will travel	
B. have/travel
C. had/ would travel	
D. had had/ would travel
15. The original London bridge______	in the Great Fire in 1666.
A. destroyed	
B. had been destroyed
C. had destroyed	
D. was destroyed
V. Choose the best response (A, B, C or D) to complete each conversation.
[bookmark: bookmark22]1.- _____________________________________
So use paper bags instead to protect our environment.
A. I cannot find my clutch.
B. Those bags are cheaper than these ones.
C. What should we use to bring these books?
D. Plastic bags can cause pollution.
[bookmark: bookmark23]2. - ______________________________
Is it Miss Liberty?
A. Do you know the woman over there?
B. Do you know the famous statue in New York?
C. What's her mother's name?
D. Who's responsible for the meeting?
3. - I'll phone you later.
______________________________
A. Or Skype if you want.
B. You did it.
C. How much does your phone cost?
D. How long is it?
[bookmark: bookmark24]VI. Read the passage and choose the correct answers (A, Bf C or D) to fill in the blanks.
Every year, there are on average at least 1500 earthquakes in Japan. 1._______ in the Pacific Ring of Fire, an area where earthquakes and volcanic eruptions occur
frequently, Japan has had a long history with this type of natural disaster. The islands
of Japan are the result of the Earth’s surface movements occurring millions of years ago. Japanese people 2._______ to living with earthquake. Minor shaking of theground is common in many Japanese’s daily life. People are required to practice earthquake drills regularly. These drills are a series of actions that is needed to ensure one’s safety 3._______ an earthquake. Buildings in Japan also have to be 4._______ with a strict safety code to make sure they can withstand medium to largeearthquake. No country on Earth is more prepared for earthquake 5._______ Japan.
	1.
	A. Located
	B. Locating
	C. To locate
	D. Locate

	2.
	A. are adapting
	B. adapted
	C. have adapted
	D. will adapt

	3.
	A. along
	B. during
	C. beside
	D. behind

	4.
	A. agreed
	B. removed
	C. followed
	D. ejected

	5.
	A. so
	B. but
	C. as
	D. than


VII. Read the passage and choose the correct answers.

VII. Read the passage and choose the correct answers
	Are natural disasters and man-made pollution related? Many researchers suggest
that there may be a link between air pollution and natural disasters. Scientists believe
that the increasing number of natural disasters in this decade is resulted from global
warming. And the main cause of global warming is the increasing level of air
pollution, especially greenhouse gases. The Earth’s average temperature is getting
warmer and warmer every day. This causes water to evaporate, changing from being
liquid to being gas, faster which can lead to drought. Humid and hot atmosphere is
also the ideal condition for tropical storm. The intensity of storms forming in this
condition can be enormous and bring devastating destruction. Furthermore, global
warming caused by air pollution can accelerate the ice cap melting process. This will
increase the sea level and the possibility of flood in coastal areas.


1. What is the main idea of the passage?
A. Natural disasters in the globe.
B. Man-made pollution.
C. Results of global warming.
D. Relation between global warming and air pollution.
2. What is the meaning of the underlined word "evaporate" in the passage?
A. Be extremely destroyed.	
B. Change from liquid to gas.
C. Speed up the melting process.	
D. Increase the sea level.
3. What does global warming lead to?
A. Evaporation of water.	
B. Tropical storms.
C. Ice cap melting process.	
D. All are correct.
4. Which natural disasters were caused by global warming?
A. Drought, tropical storm and flood.
B. Low rainfall and hot atmosphere.
C. Bad damage and ice melting.
D. Increase of sea level and greenhouse gases.
5. Which of the following is NOT discussed in the passage?
A. Greenhouse gases mainly cause global warming.
B. Tropical storms can cause extreme damage.
C. Global warming may activate some sleeping volcanoes.
D. Ice cap melting will increase the sea level.
[bookmark: bookmark25]VIII. Choose the underlined word or phrase (marked A, B, C or D) in each sentence that needs correcting.
1. We should use public transportations instead of motorbikes and cars toavoid
A	B
cause traffic jams and pollution.
                         C                                     D
2. We stayed in a peaceful Alpine village surrounding by magnificient scenery.
                      A                  B	CD
3. If we continuedestroying the forests along the rivers, there would be more and more
A	B                            C	D
floods.
4. In spite the heavy storms, the meeting was still being carried on.
A                                                        BCD
5. The factories should be relocate to the suburbs and improve their waste processing
A	B	C		D
systems.
6. I traveled to Wellington for my holiday because I finished my job before.
A	B	CD
7. The government is encouraging the community to take part to a recycling
A	B                         CD
programme. 
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